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dwjwenwbbwyg Bnuwpb(wluwy U- swlinp bBhbnbginy Swpbliul wigulwlwYy daqayp
wbap nehbgwe, snitvyduwp 15, 1957, tpbgawelh, bpbinjbudy dwdp 9-20-)1,
bibnbginy wpulhy J1ls

NppwV wy np dnqnyp wenp ypoh peubbup 7=45-pY, vwluwyV vwuuhl &peYh
bt gnipup ywobwawe, wiaudtbpp Swqht Lpguwy p Fh Swewpehs

dnnnyp puwgrtbgwt UWbphluyph PeSp Bnwllnpg, Sbpuwpbnp$ Stp Uwlppl U= Upp bup ue=
yaynu Suw dwbwbh wnolpny bt nplunclebuwdps

tytnbgeny wpwont wigquwdbbpnt whiwbwgwilp {upawgebgwt b Vbpluwbbpp Yupguwt
plyp vbnuwy wawlulwpny® [pblg vonpwgpniPhLYubpny SwvownbghV hpbyg Vbpluw=
JnitlPhityps Vbplw FhY 84 wiqulubp® npnYp ppbUg wigwlwanippbpp (ppt p-
bwpwd Y b bibnbguny Upwghp Huwbnlwgpp SwlwdwyV gilwplniPbuYy Jwubwle
gtynt hpwiatbp ntUthbs

Ubpudwluwy dnqaydp Opwluwpgh Swpgbpp Sbubibw vbpy Lpys—

1= CywrprePhty dnnnydp Untbwytuh bt Unbbwnghpp

2= lwitwbncfh Yy wyqulwunipph hnvodlvwgph vhiuRESH

3= SbnblwwinitlfhtYy Thwlhwl Naplacepgh

b SEnblunintPiLY qubdwyuwlfp

§= SbntlwuenctPheYy SphLlvuwbg UpnelPbuwl

6= StnblwwmentlPpeYy Dypwg Swup

7= SbnbluwoinePhey QuwpilpUVpy owbdVwpnodlph

8= LuupntlPhiy Thuwluwy Naplnipnh 3 wiqudibpar

9= CuwvpnaPRhry 2 PtSJwlwVy VbplujuwgnighsVbpni=bpbuinpuwl= b1

fptltyg whdbwypnluuwbnpaibpnes

10= ChupnePhitY CwpelpUpy Swidlwpnidpp 3 wiqudubpne

Vbpluywgrad wyv opwlwpgpl Jpw &ebpguy Sbunbibw) Swpgbpp-

1= Ywfnpg dnanydp wpduwbwgpntPbuwl pURbpgnid bi Juibpwgnid
2= Shlvwg UpnePbuwl quidwwwlh qblinyg

lee 2nqupuwpdnilPbuwl wnbtVwwbn Spl= Anpb YopuwbbwYy dnnnypy Vbp {uywgnig opiw
wobVwybup bt wncbwgypph p{mpnlﬁbwb Swpgp bt Jujuuwpupbg P} fUp wuopwewn
P winbg pUwpniPbwy Swlwp PELVwIntVbpnt wlntVUbp plgniVUbnts
Ubnblwybnp Swlwp wawwplyebgwy o bplpnppibgul Sbubibu] wintbUbpp=
1= Gp= Upuwd Ywpwybnbuwb
2 4p= Utbtwpu Stunlbuwd
3= wpe Quwiuwy Qwqupbuwd
wp= Ywluwl Wwquptwd 3ugntbbyg wanblwybwniPiwY PL{VwdnLtRPhLYp, npny SVuwghd
wnwfhy bplnipps
Untbwpypph Swlwp wawlwplebguwy & bphpnpnibguy SGubibu Vbpp=-
1—= Shlh= Lpbpvhw uphd
2= wp= dwlwl Twqupowl
pLiwplniPbuy JwubwlgnnVbpat winitVVbpp Jh wn Ip Yuppugibguwl bu ppblg
ququiup peltbbpp vnepp dqbghbs Rutwpynqubpne pYnSubnep PHLY tp 83:

bep Sy Ynndty Cwpilp¥Vpy Swbdbuwfpnedpp peibbpp 4o Swlplp, Uppuquy Swypp
dew%wH qwbypnt Swluwp blbAbgwluwy fuwpg Jp Swpgbpni 2nepf pwgwupnidfichbp
niwes dnitg Chusbe Spdw, puwr Uppuquy Quwypp, wilwyntV ppniPbuty Jp JLP
gquieb ny pphp 2w Sp wvhw bbp, vwlwyV wyvop gnip wypbie vnty nLvfp b

Juplpy tp, wybwyte np yiwp t pntp Qbp wppwawYplbpp wnw) wolvhp Jbp bibnbgtay
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vwllubungpntPbuy bt optbpbpnty Swlwdwybs®

QuiwpyniPbuyyg wpppthpp Stubibw v bp- UBubbwyboh Swlup wp= Upwl Ywpwybubuwd
qwlwd tp 44 piLt, pul wp= Utoupu Stupbwb® 38 piils

Bnbvwnyhup Swlwp wpe dwluwl Qwqupbwl wlwd Ep 43 ptt, pul Spli= LppbpYpw
Yohv®t 4U puits

Optw dnanyh Uunblwybn wpe Upwl Ywpwybubwy bt Unblwpypp "p= dwlwl Qwqupbuwb
Spwihpebguy np dnanydp Opwluwpgp Swpgbpniy pUiPwgp wvuwls

Unbluwybn 4p= U= Ywpwytutwh Spwifpbg ZnqupuwpdntPbuly Quwpuninup "pe= Jwlf
wwpnVbwYp, np Vwpnpg dannygp wpldwibwgpniPhip Luppus

Ywppuwgttgwt @bwpniwp 21, 1956=p wiquwlwlwV dnqnyp Jwlpuwlwey wpduwbwgpaitPheivp,
np wenh ntvbgwd tp Awb Uuwpppg wwignlp Pord Ywpopbpy FEF° b VbpluwynePbuwb
Lngtpunpd Stp LbunYy Quluwhw Unwpbbuwbh:

Ybpluvbpp hpthyg dwypwlwpnePheYvbpny Juibpwgnight wpdwibwgpnilPhivps

Jo = 2wiwbniPhty UVlpuwluwonippgh povadbwgph wvpuPslphs Ugu Swpgh 2nepd Sbpuwpinpd

Stp Uwlppl U= Uppbyhulnyne SuwiowbtwYy we wyupq bt Swelbuw i (bqiny puguwupnie
PheyYbp newt &t Juwyubeg Pt gpeliel pagnp qunntPUubpnt JEP quiinn bLlbnbghlb=
pp nppbgpwd 6% & tb=p vpultlp, pavanldf vpulPbdlp= bt wynytuny P} [pbug
bitnbghVbpne pUPwghl Swhubpp Go [P} hpblg niYbgwd wuwpupbpp gngwd btlv: Upp-
puquy Qwypp Pblwapbyg, ap Viwqugnyy qwpwlfp SLY wnjwph optlpp npgbgpip bt
52 quiwquly yquwSwpwBVbpner PP qhwbnbeny Ybpwaupdehy blbnbgeny Lngupupdnie=
Pbuwys Uppuwquh Quypp ww npny nupdntg, P wyv Ybpynd wy bie ny whpulunnipg
Jowpbynt Swplugplwd whop pp el wiqwllbpp bt ny wy blbnbgeny whwlbbpnil
L nowd &qbpak, wy| wyn qUuwlVepnty JEP whuop dgb6% ppevg wulwpuwbbbpps
UppwquV Zwypp Ynybyle pwgwupeg, P} pepupwisghip vwl JE§ quiing gnpdnq wie-
qudbbp yopomwinp b wyn Viwquenyy Jbwpaedp plbpat, Uayuyle, 6PF Lub wliwe
pnq whquwdvbp, np DhpVwbewyle p Jhbwlp ;6% wyn Viwqugnygl gniuduwpp JBuwpbnt,
wyb wwty Lp dguh hpbtYg LulphbabRE wuwYy JEP SThuyt wlacupby } gnpéngpwypb
dudwiwl Tty vnjwpp pwiwpwp ypuf Swlwpty bplnigh Swluwps
Uppwquy Quypp Pbiwgpbg, np ZngupwpdniPhiYp wyn vhuPbdh gapdwqpniPbuwy whglp
dbvpniwp wlviw vipqpp® bpp wwlwpuwiVbpp wwopweva &V daqnynipnfy SwugUbpnts
Sptwd puwgwapnt@PheYYbplty Jbp) Vbplubbpp SwypwlwpniRbwdp pUpntUbghY funvudVwe
gpp wygu Ynp vhuietdps

b Thwluwly Naplncpgp SbRbluwrentlPhiys
(ngupuwpdntPbul wubVwpyhp wp= Bwbp wwpnBbwY [p nLUbguwd UnlPwgpnilPheuubpty®
pbpuwbwgh qbhngg wiwe LngupuwpdntPbuwl pupfuwlnip wpfwowipUbpnll pnipfl=qbliny=-
gh q(hwenp Ylubpl EpY=

1= 2ngwpuwpdnePhobp bhbabgeny 2pUntlvbuy Swlup UawfUunppupwity 10,000

nnwph gapwanelPhey ppwd b, npat 5,000 winjwpp wonty pul bpwpwpdnigwd L3

2~ Qbpwpunpl Stp Uwlppl Unipp Uppbypulnyne Suw|dwbwbp VbpluwyniPbuwl,
gntvdwp 29, 1956, Gltnbgeny 2huntPbuwly Swlwp puwgiwd SwiquiwlncPbul
fnuwanudlvbpne pUqluwlnep gaeduwpp bnuws t 12, 000 wvnjuwps

3= PhsVhuwp Swyng SHY gbpbqluiwuwy vbiwluwy SnquuwpniPbul Swlup Jwubwe
tnp Swbdbwpnedph Fp Thlngwe Swiwgtwd t 395 wnjups

b Ubnuduwunipgbpl qubeLwd } 840 wnjuwp:

5= Uwpptwd b6Y qubwquly &entwplUubp™ Sbuotbw| {wpgny=
U= 8ntudup 29=p
A= Quunp (p
Q= Ghbtnbginy wylptyuwpwph qpubnduwl walhi, Sni pu 14, 1956=hY
M= Clbnbogeny 080Juwdy ZuwpltpnyP, Ubywubdlpbp 9= 1956=p%v
b= Untpp Swhnpwy Soup Awplbtpnygl, Melutdpbp 30, 1956=HY¥

Uyu papnp deabwplubplty qniv bhwdnivp bnwé } 2013=60 wunjwps
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6= UbqU} whnuwpd Selvnnbep 6quwd bU=

U= Spy= Pphrpdubnm} Ruwpubtnbud
R= wp= swlnp “lplphSppbub

G Shy= UbVEYLp Piquu)bul
b= wp= Shgpuwl Quwpuwqbwl

t= wp= UpSnY Fopufiqbub

Ugu JwSbpnt wnlPpe, yapwl dwilewuwlfp p Vywen bhbnbginy bqwd Swiqulwlni-
PhHLYVEP LY gnjwguwd F 1,098=25 wvn|uwps

7= NtVbgwd Y JEY €Ypé= UVquwlwluwl dnqnyd=twhuwywupwuvnwlwie= bt 59 Jupswluwb

dnnnubps

¢ngupupéntPbuy wwpbluwl gnpdntutncRPbuwl wyu qbynygp Vbpluwbbpat Swpuwlwpnim
lPbwYy wpdwiwgwi s

5w

6=

StnbhuwnenePhLy ZnqupuwpéniPtwy quibdwywlh:

Vywnp ntvbbwpny nap qubdwyulp Thlphalpuwdny vwubbwlVbpny ophlul yuwupwewwd
kp hp qbtlnggp 6t Viwoh nlVbVwiny np wltY SL§ wuqud wpnlV pul winbglt Sie
hwlwy oppbuwlVbtp vowgwd thHY, Upgwqwb Qwypp quyg wnwt qbtlnygh Juwvpwlwel
pulPbpgnidp bt Spweppbg SwptbpVupy swhdluwpnudph wigqwlubpp, np winby ppblg
Qbynygp vy wyn Suwpgh 2nipls

Buwbdbuwfun clpp whqudbbp Gp= Utbupe Stutbuwl, wp= Qulpwpdnid Quydubbwl b1
wp= 2tupp Vwlwpbwy Shwvbwpwp jyujubeghVy Pt ppbly gqubdwwwlh SwphiVbpp
phvo TuppwlwebniPbwlp pYhwd 6V 6t guwd 6V np PE SwphiYbpp ppbvg Jubpw-
SwubnPhibbepny 6hon 6V A% ot PP winby wuwliwd bV pJun pUwdlpgnyd: Ulnlyg
niwd wyw pwgwupnPRheubbplty Jepd, Vbplwvbpp qubluwyul)p fwowpwd wyn ywe
nwypwlwont w)wawtppl b ogiwlwun tPil Y dwpwlwpbghls

szttqihnn pURSwynp Unetwng gnjyg wiwd tp 65,478=41 vnjuwp, pul punlwlnep
blg® 64,600-48 wnjuwp, npny wulpwb {p JUup 877=93 wnup:

SbntluwnentPHey SHlvwbyg UpnilPbubs

bybneguulp Shlvwg UpniRbwYy pwpuntinup Spi= Vbluwp Uw¥ni pbuwb ppblyg

gnpdntbintlPbwy Gpluwlow gpueinp qblnygp Yuwpguge Uyu fpuw plwdgny bi fppuwn

ywpeenp SubpwlweUntPhtVvVepny wwupwowiwd qblnygp Lp wupntYwllp UpniPbuwlk

gnpdntYintPeuwy pppt wqualtpp, winbgdt Ty puwbpYy Sbubibw Vvbpl FhYs

U= 4p Juyubtpdy Swewowphd TUw) Swy dnqnynippp wuwudwluy bhbabginy® Quwjwue
nwbbwyg Bnuwpb|wluwYy thbneginy, winp wpdwlwinp LbSwhwnpV™ SEp=Sip
Juqgty U= bwlnnplne BSeTwyl Quyng bt Bbphluwyh PESH UnuwlYUnpap® Sbpu=
2Unp Stp Uwlppl Unipp Uppbuhulnyny Suw|dwbwip:

R= QupsntPhtYp ntYbgws } 13 fuwunbwinp dnqaydubp bu bphnt pwndl dnqadvbp®
wenenju ¢ngupuwpdniPbuly {bus .

Q= NiVbgwd tY 26 wiqudwlwdy dnqadbbp bt wnibbpne FE) EuplbpnyPibp, apalge
St gnyuwguwd t 459 wunjups

b= Jwbwnwd &Y $HY Swgnivnbbp, npnYglt gnjwgwd | 432=43 wvajuwpp Yalpl
gnuduwp Jps

be Stwd bV 4 bwplbpnyPlaep Unpuwluanyg bhbabginy wpwlpy FEf,nplt gnjuwguwd
t 359=90 wnjup:

Q= UpntPowy wlquluwlgnt@owy Ppip 25=1v pwpdpuwgniguwd bV S51=-pjét wiquwlu-
wntppopp qubdwd ¥ 100 walnunys

b= bwqlwd 6Y Shiwbpbbpnt wygtpng bt Mapulpl ewwews quppuplul vywuwping
swidbwpnefpeps

Shy~ vhluwp Stpuiptwbp qtlnggp vbpluubpnt poind duwpuwlwpntPbuly wpduwlwgwt:
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7o SENGGwrienetPR LY Splbwg UpnitRPouwl Subiéwywlh =
Shly= dppbpvpu Stulbwy UpniPbuYy pugluwynep bpetdneup Yuppuwg Yhpuwbbpned,
qubdwawlh qelnggp Yp wupotbwllp Thuwyy 1956-p Jwbpwlwu¥nPRPhevYbpp, apaty
pUunluwlnep gnedupY tp 1Tuv9-68 okt o buﬂ 1955=1Y fnfuwnprlwd tp quidp®
1101=75 wnjuwp, pinSuwntp gnidwp® 2111=43 vnwpe UhnitPbuwY plglubnup
tlpp tnwo tp 1673=41 vnjuwp 6t wuipp wwoupwew gpuwd fuwp 438=02 wnjwp®
8ntyjup 1, 195F=hv:
Swbvdwawd Shy= dppbpvpw Stutbuwbp qtlinygp dwpwlwpniPbuwlp pUpntbiLbguwis

8= SbnbluwotnPphLYy Mypuwg Pwuvp= Sypwg Bwup Ynqlt qblnyg viwt Op= NPugup
Gphonpewys Qb4nyghy Swlwduwyl winlp nibbgwd LHY 1065=10 wnjwph nimg®
1956=h 2pywuh¥, hul vwpen vlpqpp winby ntVEhY 888-99, wyn pUgluwlnrp
gnefup b 19554=09 vn(wply brp ntVegwd LhY 1915=65 wnjwp, npnt 1100=00
wnpwpp fBwpewd pp 0plptpY Swluwpe
Up= Puwpup Sphgnpewbp qolnygp ot Vepluwbepnt dwpuwlwpniPbuy wpdubwgut s

9=CuuvpntlPhLVVep UhwlwY maplnipnp 3 wiqudvbpne, Lw%ltgbbbz Suwudbuwnoedph
3 wyquwlvppnr, Gpougpafwibepnt et winbyg wWdbwgnpwUnppepnt:

Uppuwquy Quwypp Yywwp atVevugnyd ap Vwhwyle Shlfinfpuwdny yuopuenitwds Rh{Vw=
dntvbpnt gublp fuw Tty PaungPp Jpw® dnqnuiubbbpniy jwjuwpwpbg np snpe
ptlwplniPheyp JEHY wYqulty prrw, Pt gnpép ghrpuwgbbyne bt P} dwluwiuwl pYw=
Jugnt Swlwps
Vbplubbpnty Jguyvwpgpirbguwt, np 2nqupupdniPbul 6 Pb{VwdntYbplYy Shuyd
3=pv prtwpleV: Gpbupnpubbbpnt 4 PELVwdn LYY prLluwplbl SHiwgy bpolnight,
QuptlpbUpy SwldVwpnedph 6 PoYVwdntVeplty pLiwplty SThuyt bpbphy bL bpbuhne=
hwvvbpne whdVwpnfuwbnpgh 4 PeYYwodniVeplty Shuyt 2-hY pttupr%l Upguwqub
duypp Vaybylte Juwyowpwptg, np papnp wlnlp np nuephy pYupbpYbp nLUHY vwluwyd
whntg wintVviopp Pilvwontbupnt guw¥lpY Jpuw 31* wquo 6V whabg wyniVepp
wtupgbey ppubyg ptlwlnunlPh Jpuws

€habubaep Uguv wiguwd btu, Vieplwvdpat wunitVbbpg Jp wa S Luppuwgtbgwt bt
wunby Fhpobg pLiVepy ptlwantgpV JEy dooghbs

lwptlpuUhy “wusVwpnilph wpip wlpuwllepge, Sple= dnpbt Ypubbwdy 6L p= Znpb
lopupeqbuly webbwl pwpebynyd® denpg doeghl prtiupynelPbuwbyg wpnptlpp, npp Sovut-
w1 | Ep~-

(nowpuwpeatPowy wunuwluepnt wpqhtbg@_ubmptagub Cbubuebuw Vbpp

U- Mp~%phanp %phgnpiwy pwlwe Ep 56 ptl bL phbupiwd

Re wp= 2t¥pp UVwlwpbwy puwlwd Etp 56 pt} bt phupruwd

Q= Swpl= Znpf Ypubbuwb %w(wb bp 48 ptl 6L (bpvupluwd
swlnpn wnweta|uwgnyv ptl qwlnnubpp bawd FpU® wp= Vouwl Rnivuplbwl 33 pii,
wp— 3wl wwpnVew¥® 30 pil, [ul wp= Zn Jpubewb® 23 piis
Uppuquly Quypp Viwap ntYelwpny np .p= Sphgnp Sppgrpbuwy blenbginy Uwpluwiwg
P be wyg neqonePeuwdp wY jun J68 oguuwlwpniPRhiy gnjg viwd }, juplup quubg
np wl Spwdwph LngquwpwpdaiPbwly wlqud prrwlt 6t wlnp wbng Snquwpuwpdnt plw 4p=
Vowl @ntvufilbuy® npyle guwlnpg wawebwgnyly gt} qwlnnps CUupnilfbY Y wnwf
wp= dwl wwpalbuwl Jujuwpwpbg ap fip winitVp goipu dgift PELVwéalbbpnL guwlill,
vwluwyl Uppwqudy Quypp hp Jwupl gondwewbpny oubyl (bpl juwyuubg PL wynupup
pogpafntPhLY Swluwophbuwlul ts Uppuquy 2op puguwupntlPhiyil (bpf, wp=dwl Hwpnbe
bub juwguwpupbg P} hYp wyq wwpwolp YUgeeUp® bpp pbupibpnt ppiuws
tptupnpubvbpnl plupntlPewy wpphtypp=Luuptbguy Sbvbibw Ybpp

U= wip= 2LtYpfh Uwluptuy pwlws tp 52 ptl bt pluplwd

Re Gp= dnpf UBYuyplowy pwlwéd tp 50 gtt &L pYuprwd
Judnpn waweb wgnyl pel pwlnqbbpp bquwd bY,SplR- 3¥pp Hwpnbul™16 ptl,
Splm Znpf Qpubbwb® 15 ptb,mp— 2bpp Swppubbuwb® 13 gk, puvl p= Stpp Twlw=
phlbw®® 11 gets
tpbutpnpuwibbpne wvdbwgapuwbopqgibpnt gpupntRPbuwl wpnptlpp Cbwbtbu| Y fp=
U wip= Quwlwb Qwqupbwl pwlwd tp 49 ptb bL plupiwd
Re wp= dtJp Gwpnbwb pwlwd [p 46 ptl bL pluplwd
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Swlapg wrwtbjwgnygy gLt vowgnqlbpy EpYY wp= Vpwl Racveplbub® 30 gui,
wp SpP= Znpb Qpuwlbwb® 29 pii, Mp= Lipfh Suphwibub™ 10 geis

QwpbpVVpy swldbuwpnidph wiqudlbpnt puupnilPbuY wpqftVpp Sbubebw v }p=

U= Wpe= Puwyppl Vwlwpbwly pufwd lp 60 ptl 6L plLuplwd
R= wpe ZwV Sphgnpouwl qwlwd tp 47 ptl b plupLwd
G= Up= Utbufv Stunlbwb pwlwd lp 43 pt}
= up= Jwlwy Awqupbuly wlwd tp 43 pii

YbpfpY bplneph Swiwwwp ptt vowbwpntVy Swlwp ylog tp np qupdbw| ptlwplniPhy
PLLwp, vwluwyl 4p= Utbupu Stupbul jujguwpuwpbg PE hYp bpbp wuph Lt np wyg
ywpwolp yuwpwd F, ntvwp phVp Lp dql np wp= Quwluwl quwpbwg pLiw JuUdbuwfpnodph
bppnpn wiqudlps,

swinpn wawtejwgnyl pel pwSnqubpl EPY® wp= Upuwd Suwpwybobwb® 38 piLl, wpe
Uppwluwd Twlhbbub® 17 piis

Opwlwpgh Swpgbply gnipu bqul {uwpg Jp LuYpbinp jujguwpwpnilfhoBbbp, npniyp
Cbubibw vbpl EhUs

U Btuwbpuywl swbdbwfpnedlph Yot wp= Utbtwpu Stulbuwl gujuowpwpbg P} ppbly
bptyvg qubdpy FE§ 10u wapup nLupbs
Vephutbpne SwiwbnelPwlp npnpibguwt Utwbqueywl BwVdVuwfunulpp VYnjunilowdp
ywlaps

Res lwzt%hzhuh L tporgwe 700 wnpuph JwupY, apae bl PulPEyR qplwd p,

up= @hP YphY pugwwpbg PP wunp 500 wnpupp Shgpul dwhuqbuip uwlll

Svwguwéd }, pul 200 wajupy wy dwppuy Uwantlbuwbp fuwltys

Uppuwqul 2uypp Juwyowpwpby Pt Spl= dncfwp Gwpnbuwl blbabginy Unuwibphpl

Cwlup 155 wnjuwp {bupwd L3

vn gy lu ?bpwgbnp( Stp Uuwdpptl Unepp Uppbypulnyny Su dwbwl Jujowpuwphbyg

Pt Phslpunp Swy gquanelPh ShTbwnhp BwpniPhiYy Uquw Swppuwlbubp quiwlp Quyp=

wnpbgwéth 10 wnqwp nolwd b, np hp Sop Swlup $ngtlwigpun fwowptf bLbabge=

tny Uitls

b- Uppuqul Quypp Juwgwwpwpeyg Pl 2nguwpwpdntlPhiyp quwu (wt ququwhwp fp Jnwgwd
b 6L npnpuwd, np wbnungu Unepp wonnu bypulnuyavwluwiwg bthbabgeny 150 win=
twph Yilp dp vws VbpluVbp p wlhewlJub galnitbuwlncPbulp Swpwluwpbght wyng |
npnanidps |

$bpwaunpd Sip Uwlppl Upp= Uppbyhulnynu
Quipwbwlfp fupg Fp RuguwupntPRAebubpy ne BwjuwpwpniPhibYbpp

U UCETwyY 2wyng Qwlanhlnup® Stp=S8tp dwqglVy U- Ywlaghlnup 080wy br YpLelwlbpg
wpdwlupbbpae Jwupl juwjnbeg P} pum (wt bV winbp 6L wiug F np gntguwapthd
bitnbgeny vpwlhy LI b Vywuw bElbobgings

R= Gnjuwuuwbpp ppuwt USbVuwyl Quyeg Yuwlngplnwh™ Stp=Stp dwqgll UBnuwlhip bi Juwju=
Ybg [} wd bSwpwnp vip b& ShntRlicy fp pupnql qwpntlul= vip® Suwlnly
wqgh?, beqbghgb be 2wypbupphl VYiuwalwlpsyny ppuwt Vbpluwbbpnty, np ppblg
pbouwvubpp pubub wvhpny bt pwquintlPbuly Swlup bt ny P} pwlpuwowigh bt pufr=
poweh Swlwps Uppuwqulp Vnylylv Jugubby RE Pplwlwluwl fouvgbpar bt wblunbb-
pnt wodwluwi¥bp Lgnnbbpnt fupbenpnifilY ylup sF vwps

%= Nouthny bibnbginy Sndpth Juwuhb, puwt R} pquw Sp blbnbghbbp Pupnip bV b1
bpp Ubq blbnbguluy Ynitwe pYp ntpwpaiPbudp wiug b opUgniUpUgs Uppuquip
Ungbyte Juguubg PE bpp 3 Snyfcbbp g luwl Revwdnl pprupne Swluybpp phupni=
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